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	True
	A
	D

	10
	D
	False
	False
	False
	B
	C


SENTENCE STRUCTURE (SYNTAX)

LEVEL 1

1. From these two sentences, which one sounds more balanced?

a. Robert is handsome and has sound judgment.

b. Robert is handsome and sensible.

2. From these two sentences, which one sounds more balanced?

a. School is mentally challenging and makes me sleepy.

b. School is mentally challenging and tiring.

3. Which sentence is more clearly stated?

a. The fish was small, alert, and he was obviously scared.

b. The fish we saw was small, alert, and obviously scared.

4. Which sentence from this list is properly balanced?

a. The rain splashes on the street and always is soaking the stairs

b. The accountant asked his clients to tell the truth and if they could provide evidence.

c. The coffee here is delicious, hot, and inexpensive.

5. Which sentence exemplifies proper parallel verb forms?

a. In my spare time, I like swimming and to play golf

b. I like to dance and to golf.

c. I like dancing and golf.

6. Which sentence is the worst example of parallel construction?

a. I gave my guitar to my sister, my skiis to my father, and my putter I gave away to a used sports store

b. I gave my guitar to my sister, my skiis to my father, and my putter to to a used sports store.

c. I gave my guitar to my sister, my father I gave my skiis to, and my putter I gave away to a used sports store.

7. Which sentence uses conjunctions properly?

a. Natalie is not only a fine swimmer but an accomplishes diver also.

b. Natalie is not only a fine swimmer but also an accomplished diver.

c. Natalie is not only a fine swimmer, but also an accomplished diver.

d. Natalie is a fine swimmer and an accomplished diver. 

8. Which sentence does not lack balance?

a. The longtime staff member was not only kind and liked to be helpful also.

b. Your new outfit is neither colourful and it is not stylish either.

c. Lucy is neither prepared for the cold nor is her family ready for what lies ahead.

d. My niece not only likes to giggle, but also likes to jump in puddles!

9. Which sentence uses coordinating conjunctions properly?

a. Eden gave us too many things to do yet, she did very little herself

b. Rachel enjoys dance class, therefore she will be a great dance partner

c. I love going to camp; however, I miss home when I’m away.

d. I love camp and, going to the movies

10.  Identify the fragment:

a. If we train diligently, 

b. Although you have driven for miles today

c. Our team can win the finals

d. It should be no surprise

LEVEL 2

1. Identify the conjunctive adverb

a. if not

b. on one hand

c. at the next

2. Which is not a conjunctive?

a. hence

b. thus

c. second

d. instead

3. Which conjunctive is not used correctly?

a. Dave Smith, however, did not vote in the election

b. Nontheless, he still made it home.

c. Therefore; the results of the test were accurate

4. What is the difference between these two sentences?

We were adjusting to the colour of the room.

We were searching for an experienced pianist.

a. description

b. wordiness

c. logic

5. What is the problem with this sentence: Mark down these figures in a spot to which all of us have the same access.

a. Lacks punctuation

b. Is too wordy

c. Is not clear

d. Does not make sense

6. What sentence had a compound subject and a compound object?

a. visualization prepares students for tests.

b. Visualization and studying prepare athletes for success.

c. Visualization and practice prepare students for high grades and achievement.

d. Visualization and knowledge prepare the student for a successful life.

7. What is the verb in this sentence?

Late showings caused a stir.

a. late

b. showings

c. caused

d. stir

8. What is a conjunction?

a. A balance of words

b. A relation

c. A starting point

d. An association

9. Identify error:

a. Hard work creates students for success, constant practice is a must

b. Hard work creates students for success; constant practice is a must

c. Hard work creates students for success—constant practice is a must.

10. Sentences that are referring to now will always be in present tense.

True

False

LEVEL 3

1. What is the meaning of the word consequently?

a. it follows

b. as a result

c. it shows

d. as a matter of fact

2. What is the meaning of the word likewise?

a. proximal

b. closely

c. similarly

d. same

3. Transitional words are used to add depth to writing?

True

False

4. Transitional words are used to join dependent clauses?


True

False

5. There are only three ways to join independent clauses?


True 

False

6. How many of these sentences have errors?

a. Joseph read The New Yorker, his friends read The Post.

b. We will stop in Waterloo or we will stop in Montreal.

c. The car’s engine staled, therefore, we stopped moving.

d. I swim everyday; my friend swims once a week.

1
2
3
4

7. Identify the fragment:

a. When we have time

b. We read and enjoy fiction

c. Elliot still rides his bike

d. Because it is sunny today

8. Identify the dependent clause:

a. Losing weight and building muscle are the most important goals of our new approach….

b. Although other activities will be developed…

c. Activities are not always the way to lose weight…

d. However, losing weight is difficult…

9. You can achieve emphasis by placing the idea at the beginning of the sentence:


True

False

10.A complex sentence requires two independent clauses:


True

False

LEVEL 4

1. There is no difference between an independent clause and a fragment?

True

False

2. Compound-complex sentences contain one independent clause and one or more dependent clauses.

True

False

3. How many dependent clauses are here?

a. She watched the Olympics

b. She enjoyed it very much

c. Though she normally does not like watching sports

d. She sat waiting

1

2
3
4

4. What is wrong with this sentence?

Joel who plays the guitar rarely listens to music however Elan plays no instrument and listens to lots of music.

a. Is faulty logic

b. is three sentences

c. is two sentences

d. is 2 independent clauses 

5. Is this sentence correct?

a. The 200-acre park in Toronto, Canada, is open to the public; from June to the end of November.

Yes

No

6. The basic components of a sentence are subject and predicate.

True

False

7. An action functioning as a noun is a subject.

True

False

8. A predicate gives information about a subject.

True

False

9. A subject and predicate must have an object to be a sentence.

True

False

10. The predicate usually precedes the subject.

True

False

Level 5

1. A phrase is a group of related words that do not contain a subject and predicate, but must contain a noun and verb

True

False

2. Unlike a clause, a phrase can stand alone.

True

False

3. Searching through her e-mail, he came across evidence. She asked if he hand more to say, her smile growing. The cats, by the way, insist they have nothing to do with the smell in the house. These three sentences are examples of what kind of sentence structure?

a. Independent clauses and phrases

b. Clauses

c. Phrases

d. Dependent clauses

4. What is the problem with this sentence? Only four years after finishing law school, Andrea’s career took off.

a. misplaced comma

b. incorrect word order

c. dangling infinitive

d. dangling modifier

5. What sentence is written the clearest?

a. A survey was administered by all the committee members by the corporation

b. The corporation committee took a survey of all the committee members

c. The corporation surveyed all the committee members

d. Committee member were surveyed by the corporation

6. What sentence is muddled?

a. A free service is provided by the company.

b. The company provides a free service.

c. The company offers a free service package.

d. A free service is offered by the company.

7. What sentence is an example of a smothered verb?

a. I will make a suggestion that we offer a new incentive

b. I do not understand his skill

c. The judges objected to our vote.

d. I recommend that we skip the morning meeting

8. What sentence commits an unclear pronoun reference?

a. Jeremy told the teacher his homework was not completed

b. Jeremy told the teacher that his, Jeremy’s, home was not completed

c. Joe dropped the plate on the floor and shattered the plate.

d. When Joe dropped the plate on the floor, the plate broke.

9. What sentence commits a descriptive word placement error?

a. The old lady enjoyed a glass of wine after years of abstaining from alcohol in her backyard. 

b. The elderly woman relaxed in her back yard after years of hard labour.

c. Established staff who talk constantly about the future confuse new employees.

d. Using the provided booklet, I wrote my test and aced it.

10. What is the meaning of these words? in the past, up until now, at that point, over time, in that period, during the past

a. now

b. then

c. before

d. currently

Level 6

1. Identify preposition error:

b. agree to

c. apply from

d. be angry at

e. arrive at

2. Which sentence has a preposition error?

a. I am addicted to chocolate and coffee.

b. I am interested about opportunities with your company.

c. I argue with my brother all the time.

d. I am annoyed with my friend.

3. Identify a preposition error?

a. Think about

b. Pray for

c. Be terrified about

d. Decide upon

4.What sentence best corrects this sentence: This was the first winter a ski trip was made by my class.

a. This was the first winter ski trip that was made by our class.

b. A first winter ski trip made by our class.

c. My class made a winter ski trip for the first time.

d. The first time my class went on a skip trip was this winter.

5.Identify error in voice:

a. Press play to start the ipod

b. Play will start the ipod

c. When the play button is pushed, the music will play

d. Press the play button to start the music

6. Identify error in voice

a. The email was received by Rachel saying that her mother would be coming to visit, because she had not seen her in a while.

b. Rachel’s mother sent her an email stating that she was going to visit because she had not seen her daughter in a long time.

c. The email received by Rachel said her mother would come to visit, as she had not seen her in a while.

7. An indicative verb expresses a command or instruction.


True

False

8. Which sentence does not have a dangling infinitive?

a. To write well, a strong reading ability is required

b. A strong reading ability is require to write well

c. To write well, you need a strong reading ability

d. Writing well requires a strong reading ability

9. Which sentence does not have a dangling infinitive?

a. To enjoy a good book, a comfortable chair is mandatory.

b. A comfortable chair is essential to enjoying a good book.

c. Essentially a chair makes reading a good book better.

d. To enjoy a good book, one must have a chair.

10.What sentence is correct?

a. Sarah attempted to catch Rachel’s attention, but she was disinterested in what she was saying

b. The uninterested captain made a choice based on the data, not because of any significant relationship with the sailor, who so happened to be her cousin.

c. The disinterested captain made a choice based on the data, not because of any significant relationship with the sailor, who was her cousin.

